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117 | B K Ji 1 UKy 5T 9.400 | 2 9.500 | 5 9.800 | 1 9.800 | 1 38. 500 1
116 | & & oA e s ks 57 9.450 | 1 9.750 | 2 | 9.600 | 2 | 9.650 | 2 38. 450 2
90 | & T B | 3 TVarAR=YITT] 9.150 | 5 9.800 | 1 9.550 | 3 9.000 | 7 37.500 3
102 A By 1 FBYa=TRERs T 8.950 | 9 | 9.500 5 | 9.250 | 18 | 9.600 | 3 37. 300 4
115 | B ¥ Ho M = ey T T 8.950 | 9 | 9.450 | 7 | 9.450 7 | 9.100 | 5 36. 950 5
81 | K& HE A | /6 | AT NT KRS T 9.150 | 5 | 9.100 | 13 | 9.500 4 | 9.100 | 5 36. 850 6
100 | f+ 84 W N6 | BV a=T Ry 5T 9.100 | 7 | 9.450 | 7 | 9.350 | 11 | 8.900 | 8 36. 800 7
101 | = B Bt N6 | Y a=T iRy 5T 9.250 | 3 | 9.700 | 3 | 9.150 | 27 | 8.650 | 13 | 36.750 8
89 | I jE Z| NS VarAR—=Y I TT] 9.250 | 3 | 9.550 4 | 9.500 4 | 8.400 | 20 | 36.700 9
8 | LM TR | 6 | TarAR—=YITT] 8.800 | 12 | 9.450 | 7 | 9.300 | 13 | 8.500 | 17 | 36.050 | 10
9 | #HE WZE | S RV a=THRRsTT 9.000 | 8 | 9.400 = 10 | 9.300 @13 | 8.300 | 22 | 36.000 | 11
119 | B K #hkW INe | LY AR T T 8.800 12 | 9.300 12 | 9.300 | 13 | 8.200 | 25 | 35.600 12
120 | /& ¥ OB NG LYY RR=Y T T 8.100 = 23 | 9.350 @ 11 | 9.150 | 27 | 8.900 | 8 35. 500 13
128 | B oA 2Sr 1 WRT AT KRy T 8.550 | 15 | 8.950 16 | 9.300 13 | 8.700 | 12 | 35.500 | 13
108 | H % tE A /M| BKER ZT 8.900 | 11 | 8.800 | 21 | 9.250 | 18 | 8.300 | 22 | 35.250 |15
91 | T HE R HE | 6 VarAR—YITT] 8.750 | 14 | 8.900 17 | 9.000 @ 33 | 8.550 | 15 | 35.200 | 16
9 (kA KF1 | 5| UEBEYa=TKERsZ 7 8300 | 19 | 8.800 21 | 9.350 | 11 | 8550 @ 15 | 35.000 @ 17
83 | K ¥ BN | /5| AT AT 7K T 8.300 | 19 | 8.900 | 17 | 9.400 | 10 | 8.300 | 22 | 34.900 | 18
107 | A B &% | /6 | PRy ZT 8.300 19 | 8.550 @ 29 | 9.000 | 33 | 8500 | 17 | 34.350 19
118 | K E KF | /N6 | LyYAR—=YIFT 7.650 | 34 | 8.000 | 41 | 9.200 | 22 | 9.400 | 4 34.250 | 20
86 | I & A NG LA R T T 8.000 = 27 | 8.700 @ 23 | 8.950 | 38 | 8.500 | 17 | 34.150 | 21
127 | @& fEOF S 2 FLRT T 7Ky 5T 8.350 | 18 | 7.950 | 45 | 9.450 | 7 | 8.350 | 21 | 34.100 | 22
82 | BER H M /5| AT AT KRS T 7.900 | 28 | 8.400 | 32 | 9.300 | 13 | 8.200 25 | 33.800 = 23
9% | B JK B 3 S LAKEREITT 7.450 | 40 | 8.000 | 41 | 9.450 | 7 | 8.800 | 10 | 33.700 & 24
104 | Rk i 1 BEAKEREY =7 257 | 6.850 | 45 | 8.850 | 20 | 9.250 | 18 | 8.750 | 11 | 33.700 | 24
123 | & K B | /N5 ALLEStA#RZ 57 7.600 | 36 | 8.700 | 23 | 9.200 | 22 | 8.200 | 25 | 33.700 @ 24
1L | )i B BB /M| NOBEAMITAGAR—=Y257 | 8400 | 17 | 8.250 | 37 | 9.500 | 4 | 7.350 | 42 | 33.500 27
8 | B H — B | S| VAR TT 7.850 | 31 | 8.700 | 23 | 8.800 | 42 | 7.950 | 31 | 33.300 @ 28
125 | @l WK e TRy T T 7.900 | 28 | 8.250 | 37 | 9.000 | 33 | 8.050 | 28 | 33.200 @ 29
110 | 3 B Ik 1| NPOBAMITAGAK—Y257 | 8100 | 23 | 7.250 | 47 | 9.150 | 27 | 8.600 | 14 & 33.100 | 30
122 | R H 4 B /N5 | ALLESIEERY 7 7.550 | 37 | 8.450 | 31 | 9.200 | 22 | 7.900 | 32 | 33.100 | 30
92 | R B fi | 5 | AUEBYa=7KERsZ7 | 8150 | 22 | 9.100 | 13 | 8.800 | 42 | 7.000 44 | 33.050 @ 32
94 | Il By | M| AUIEBY a=T Ky 57| 7.700 | 33 | 8.900 | 17 | 9.200 | 22 | 7.250 @ 43 | 33.050 @ 32
129 | T % Kz by 2 AbEBYa =7 K 57| 7.650 | 34 | 8.600 | 28 | 9.100 | 30 | 7.700 @ 35 | 33.050 @ 32
87 | A A MK | 6 LAXEKEREITT 7.500 | 38 | 8.350 | 33 | 9.050 | 32 | 8.050 @ 28 | 32.950 @ 35
126 W BRIE INS | TR KRS T T 8.500 = 16 | 8.050 = 40 | 9.000 | 33 | 7.400 | 41 | 32.950 | 35
95 | & W MR Ik | /NS | AUEBYa=TKERs 57 7.850 | 31 | 8.700 @23 | 8.850 | 40 | 7.450 & 39 | 32.850 & 37
121 | WS ¥ B fF /N6 | ALLESIRERY T 7 7.300 | 41 | 8.550 | 29 | 8.900 | 39 | 8.050 | 28 | 32.800 & 38
114 | FHKFE EWR A2 VarAR—YIITTS 7.900 | 28 | 8.350 | 33 | 8.700 | 45 | 7.750 | 34 | 32.700 | 39
97 | Bk R A& A5 K LAKEITT 7.000 | 44 | 9.100 | 13 | 9.100 | 30 | 7.450 | 39 | 32.650 | 40
106 | A H #f | /N6 | PR T 8.100 = 23 | 8.350 @ 33 | 8.650 | 46 | 7.550 | 38 | 32.650 | 40
105 | = i & 2 | 6 | BEAKBREY2=72F7  7.100 | 43 | 8.350 @ 33 | 9.200 | 22 | 7.700 | 35 | 32.350 | 42
112 | {E b B 1| Va2 AR=Y I TTS 7.500 | 38 | 8.000 | 41 | 8.800 | 42 | 7.800 | 33 | 32.100 | 43
80 | A4 A WK | /6 | ALBTNT 7K T 8.100 | 23 | 8.100 | 39 | 9.000 | 33 | 6.600 | 46 | 31.800 | 44
109 | S B A L | NPOBEAITAGAK—Y 257 | 7.250 | 42 | 7.850 | 46 | 9.250 | 18 | 6.650 | 45 = 31.000 | 45
98 | = kA | N | BRIV a=T K 57 6.550 | 46 | 8.650 | 27 | 8.000 | 47 | 7.650 | 37 | 30.850 | 46
103 | B A K B 2 BEAKEREY =72 57 | 6.050 | 47 | 8.000 | 41 | 8.850 | 40 | 6.350 | 47 | 29.250 | 47
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